)Trans p or
@mm'm"' Pl ﬁ—-;,,:m‘"
N ERADUCTYON, TRANSPORT IN PLANTS)

ng

AR Wies: & the ions enter the root hairs:

(@) In bulk flow (b) Active transport
(c) Facilitated diffusion (d) All of these
(2)  The uptake of minerals by roots:
(a) Is passive process (b) Is active process
(c) May be against concentration gradient  (d) All of these
3 lons moving in the pathway cannot reach beyond endodermis.
(a) Apoplast (b) Symplast
(c) Vacuolar (d) Both “a”& “b”
4) Pick out correct route of water molecule from soil to xylem:
(a) Soil-cortex-epidermis-endodermis (b) Soil-epidermis-cortex-endodermis
(c) Soil-root hairs-endodermis-cortex (d) Soil-plasmodesmata-root hairs-epidermis
5) Mycorrhizae are present in:
(a) 50% of the vascular plants (b) 70% of Gymnosperms
(c) 90% of gymnosperms (d) 90% of Angiosperms
(6) Which factor determines water potential?
(a) Solute concentration (b) Pressure potential
(c) Potential energy of water molecules (d) Both “a”& “b”
) One liter of percentage glucose solution will be having maximum water potential.
(@1 (b) 10
(c) 20 (d) 50
(8) In a solution which of the following will decrease the water potential?
(a) K.E. of water molecules (b) Solute concentration
(c) Pressure potential (d) All of these o~ N [T -
(9)  In a solution, is equal to water potential .~ % | [ <, | oo
(a) Water potential plus solute potertial | (D)-\Wafel potln al ifius q_l'gr’.e soiential
(c) Solute potential minus Generator metential, (A1), Swltte woteniiak plys pressure potential
(10)  Force exertad by the prot)p‘aat agairist tho ceil wwallis celled | __=  potential.
(a) Osinor: e\ "\ o \ T ’b) Pressure
(c) Soluite + 4% L L (d) Generator
(11)  When aceli is, plaf‘(-:pl in'‘asolution with higher solute concentration __ potential of
ey ._?(_J il d.ea lrease.
Sy B ) Soldte (b) Water
’ (c) Both “a” and “b” (d) Neither “a” nor “b”
(12) The casparian strips are present in:
(a) Cortex cells of roots (b) Endodermis cells of roots
(c) Cells of pericycle (d) Cells of phloem
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(13)

(14)
(15)

|
(16}

(17)

(18)

(19)
(20)
(21)
(22)
(23)

(24)

(25)

(26)

Which of the following process cause substances to move across membranes without
the expenditure of cellular energy? - -

(a) Endocytosis (b) Active transncit
(c) Diffusion i | (d) NoreT these | |
The shrinkage of protoplast due to-exosiviosis ist |

(a) Ascent of sap . (b\ Guttatinin.

(c) Plasiniclysis L \ {G) bc,ulasmolysis

The roiss of . ocopls nyay penetrete-deep in soil up to:

(@5m? (b) 25m

(Cir50m . ' (d) 70m

DAL RRERE WICOs

Change in water potential of a system due to the presence of solute molecules is

called: (LHR 2017)

(a) Pressure potential (b) Solute potential

(c) Matric potential (d) Gravitational potential

The loss of water through hydathodes is called: (DGK 2017)

(a) Transpiration (b) Bleeding

(c) Guittation (d) Imbibition

Pathway of water consisting of interconnected protoplasts in roots cells is called:
(DGK 2017)

(a) Apoplast (b) Symplast

(c) Protoplast (d) Tonoplast

Water potential of pure water is: (SGD 2017)

(a) +10 (b) +5

(c) Zero (d)-10

Loss of liquid water through secreting glands or hydathodes is called:  (SWL 2017)

(a) Transpiration (a) Evaporation

(c) Guttation (d) Imbibition

Bleeding phenomenon is not shown by: (MTN 2017)

(a) Strawberry (b) Sugar maple

(c) Grape wine (d) palms

The maximum depth of roots of Prosopis is: (BWP 2017) ..

(a) 40 meters (b) 50 meters — =34 4

(c) 60 meters (d) 70meters ., [ [~ 1 L

Casparian strips are present in: T T Y | CGRN-2918)

(a) Epidermis \ L () Encpagimis | | v T

(c) Cortex U O -(m Pemyclt R

The caspzrian _§t;ip§-qre.p'ré3wén@: W, (LHR 2019)

(a) Cortzy peds ofrpors) | In S T (b) Endodermls cells of root

(c) Cellg of per i'r‘yc le, | (d) Cells of phloem

IS >henon: er:ce-n‘which loss of liquid water secreting glands takes place is:

M (GRW 2019)

@) Imbibition (b) Guttation

(c) Ascent of sap (d) Bleeding

Apoplast pathway become discontinuous is endodermis due to: (DGK 2019)

(a) Pericycle (b) Casparian strip

(c) Cortex (d) Xylem
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(27)  Lenticels are aerating pores formed in the: (SGD 2019)
(a) Bark (b) Epidermis . :
(c) Endodermis (d) Pericycle _ - [

(28)  The loss of water through Hydathodes ir{ [éaves iscalleds, '\ * | [ ©(MITN-2021)
(a) Bleeding \ _ * (b, Transpiuatior
(c) Guttation (d) ks bn n

(29) Caspasiar strins.arepresentin‘cenls of ruu'r (RWP 2019, SGD 2021)
(a) Corzs _ " (b) Epidermis
(c) Endedermis! | ) (d) Phloem

(30} (GLrtation odcnrsin plants through: (RWP 2017, DGK 2021)

L d)Cuticle (b) Hydathodes

(c) Lenticels (d) Stomata

ENTERY TEST BASED MCQ

(31) Water and minerals move down their concentration gradient through
plasmodesmata, to cells of cortex, endodermis, pericycle and then to sap in the

xylem cells. This is also known as the: (MDCAT 2019)
(a) Symplastic pathway (b) Vacuolar pathway
(c) Mineral absorption pathway (d) Apoplastic pathway

(32) Flow of blood in the capillaries is adjusted by: (UHS 2022)
(a) Heart directly (b) Pre-capillary sphincters
(c) Meta-arteriole (d) Valves

KIPS MCQs|

(33) The xylem water tension is strong enough to pull water to__ meters.
(a) 200 (b) 300
(c) 400 (d) 500

(34) % of the absorbed water is used by plants in its activities during
photosynthesis.
(@1 (b) 2
()3 (d) 99

(35)  Which of the following is soluble in water?
(a) Cellulose (b) Pectin
(c) Lignin (d) None of these _

(36)  Root pressure may play a significant role in plants with:— w ] |
(a) Smaller size (5\ Laiger siza | ” W
(c) With slow rate of transjiration = (U Both “p" & <57

(37)  When leaves transplre the ware/ potent. aI of nesunh/n \.E"S Is7
@ Increg,ts=d e . \ \ ) Decreased
(c) Does rict change!, | 4 LY e (d) first increased and then decreased

(38) Hyaathbdeg are assoctatea with:

-, [T\ @) Trenspitation (b) Guittation

At 4) Conduction (d) None of these

(39) Cohesion tension theory was proposed by: (SGD 2017)
(a) Dixon (b) Robert Brown
(c) Sacks (d) Van Mohl
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(40)  Closely associated with root pressure is a phenomenon: (MTN 2019)
(a) Transpiration (b) Exudation - :
(c) Evaporation (d) Humidity _ - [

(41)  Structures that are involved in guttationiare: W CENFZ021)
(a) Cuticle \ _ * (b, Stoinaie
(c) Lenticels (d\ Hyﬂ,ithﬂp

(42) The vgitme pf dry-zged imayinéreqse, Wp Lo 200 times by: (BWP 2019, RWP 2021)
(a) Diftgsicn _ = (b) Osmosis
(c) Imbiditien’ | Y ) (d) Active transport

(4331 Hydlathcdesiare-timked with one the given processes. (SWL 2022)

s @) engibition (b) Bleeding

(c) Guittation (d) Transpiration

(44) Guttation occurs in plants through: (BWP 2022)
(a) Cuticle (b) Hydathodes
(c) Lenticels (d) Stomata

ENTERY TEST BASED MCQ

(45) Four plants are present in different environmental conditions. Plant A is present in
warm climate with continuous rainfall, plant B is present in a cool forest, plant C is
present in warm climate with little breeze while plant D is present in warm climate
high wind speed. Which one of the above plants will have highest rate of

transpiration? (MDCAT 2019)
(a) Plant B (b) Plant C
(c) Plant D (d) Plant A

TYPES OF TRANSPIRATION

(46) Type of transpiration which does not occur in all plants is:

(a) Cuticular (b) Lenticular
(c) Stomatal (d) None of these
(47) In dorsiventral leaves stomatal transpiration occurs through stomata located on
epidermis.
(a) Upper (b) Lower
(c) Both “a” &”b” (d) None of these
(48)  When the guard cells become turgid, transpiration? -
() Increases (b) Decreases—— w ] |
(c) No effect ~  yEsops\ )y Oy AN WA T
(49) Inisobilateral leaves storfiatal tra@sniration\cccurs through | '_-_ epidermis.
(a) Upper . S bt ower. -
(c) Bo h o ?c”" ol \ \ &y None
ANVEAT -
(50) The otel tran ,plratmn mrough cuticle is: (LHR 2018)
~ T MaelLel - (b) 1-7%
S M) Z-4% (d) 2-5%

l) Among the total transpiration taking place in plants, cuticular transpiration is
about: (MTN 2019)
@1-2% (b)5-7%

(c) 50 - 60 % (d) 90 %
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(52) The pathway involving system of adjacent cell wall: (LHR 2021)
(a) Simplest (b) Apopalast - :
(c) Plasmodesmata (d) Vascular _ - [

(53) What happens when the guard cells are turgid? D CUDGEKE022)
(a) Stoma open * (b, Stoina)cloged!

(c) No effect on stoma \ Sunar Ihvel div
. mmmz 43 or ST ]

-
(54)  Expgsulre 1o tne blue light'is:

(erAcidificarien ot environment (b) Uptake of K* ions of guard cells
| b)) Turgidity of guard cells (d) All of these
55 Which of the following is NOT true of guard cells?

(a) They are present in the epidermis of leaf

(b) They are connected with plasmodesmata with other epidermal cells

(c) They contain chloroplasts

d) They are kidney shaped
PAST PAPERS MCQs

(56)  Which light enhance the uptake of k*in guard:

(a) Red (b) Blue
(c) Green (d) Violet
(57) Plants open their stomata by actively pumping which ions, causing water to follow
by osmosis. (GRW 2021)
(a) Sodium ions (b) Potassium ions
(c) Magnesium ions (d) Iron
(58) Plasmodesmata are found in: (SWL 2021)
(a) Symplast (b) Apoplast
(c) Protoplast d) Chloroplast
FACTORS AFFECTING THE RATE OF TRANSPIRATION
KIPS MCQs
(59) The rate of transpiration doubles by every rise of temperature about:
(a) 5°C (b) 10°C

(c) 15°C d) 20°C
TRANSLOCATIO OF ORGANIC SOLUTESES

(60) Phloem is generally found on the-ciiter sideicf | | IR R
(a) Xylem = (B) Epicernis
(c) Cortex_- VS ) Bothe” &b

(61) Cytop‘asmc cumnoncnts ¢ re sca«Qﬂ in quaiitity in:
@ Comp(rlov‘e]k A (b) Sieve tube cells
(c) Sprtexoells | ) L (d) All of these

. (62) 1 MRaat of Lhedt acts as:
L) Source (b) Sink

(c) Both “a” & “b” (d) Producer

(63) Average velocity of movement of sugars in phloem is:
(a) 1meter/8years (b) 1 meter/day
(¢) 1 meter/hour (d) 20 cm/min.
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(64)  Which the following is/are a sink?

(a) Fruit (b) Root
(c) Immature leaf (d) All of these - [
(65)  While moving towards the sieve elements sjiciose takes fne—, " % [pathway mosty:
(a) Apoplast \ + (I, Symplast
(c) Vacuolar ' () Btk <& e

(66) Pressus®,iiow theary-accounts fr'the! _
a) Masgaflowi of mialecules widiin plilozni iffusion within xylem
Magaf| frglecules il b) Diff thin xyl
c) Mass fiow DF mo'eculas viithin xylem iffusion within phloem
Mas; fiow D motecul yl d) Diff thin phl
(67~ Trgrspcrtiaf chotosynthate from the mesophyll cells to phloem tissue involves:

@ 1iruson (b) Active transport
(C) Carrier mediated transport (d) All of these
(68) From phloem to sink, sugars are transported by:
(a) Diffusion (b) Active transport
(c) Carrier mediated transport (d) All of these
(69) According to pressure flow theory, which of the following usually serves as sink:
(a) Leaves (b) Stem
¢) Roots (d) None of the these
(70)  The pressure flow theory was first proposed in 1930 by: (FSD 2021)
(a) Ernst Haeckel (b) Ernst Munch
(c) Flemming (d) Dixon
(71)  The cells which supply ATP and proteins to sieve tubes are: (LHR 2022)
(a) Companion (b) Epidermal
(c) Tracheids (d) Vessels
(72) How sugars are transported in plant cells? (SGD 2022)
(a) By sieve (b) By sieve pipes
(c) By sieve element (d) By sieve compound

TRANSPORT IN ANIMALS
(TRANSPORTATION IN HYDRA AND PLANARI) (a)

(73)  Which of the following has maximum surface area to volume ratio?

() Amoeba (b) Hydra
(c) Sponge (d) Whale '

(74) Habitat of hydra is: i TV . T AN i -
(a) Terrestrial \ (), Fresh water | |
(c) Marine 7T (@) Btk & e

(75) Diffusisniisithe progess-inveived in'thewioveractit of materials into and out of the
cellsiri==y AT e (1 W DL
(@) Hydral | 0 L L L (b) Planaria

1 (c N ong 0'1"‘"2_1" &b (d) Both “a”& “b”

(78) | %, Theiess o special transport system in:

"% @) Planaria (b) Hydra
(c) Paramecium (d) All of these

(77)  Ectodermal cells in hydra get food from endodermal cells by:
(a) Diffusion (b) Active transport
(c) Endocytosis (d) Exocytosis
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CIRCULATORY SYSTEM

(78)  Which of the following has a closed circulatory system?.-

(a) Snail - 1 (h)tnsect
(c) Squid ' . — (dy,Spider
(79)  Closed circulatory systerr. transwerts: | _
(a) Oxwygen WY CO,
(c) Foox e (d) All of these
(80)  Whizh of the fcllcwing is ubsent in earthworm?
(er2lood : (b) Haemoglobin
L O)WBS (d) RBC
(81 Open circulatory system is:
(a) More primitive (b) More advanced
(c) More efficient (d) Both “b” & “¢”
(82) is chief collecting vessel in earthworm:
(a) Dorsal Blood Vessel (b) Ventral Blood Vessel
(c) Commissural Vessels (d) Subneural blood vessel
(83) RBCs are not involved in transport of oxygen in:
(a) Human (b) Earthworm
(c) Cockroach (d) Both ‘b” & ‘¢’
(84) In cockroach, the blood flows in all these except:
(a) Perivisceral sinus (b) Haemocoel
c) Capillaries (d) Perineural sinus
(85) Open circulatory system is present in: (SGD 2019)
(a) Man (b) Cockroach
(c) Earthworm (d) Leach
(86) The heart of cockroach has many chambers. (MTN 2021)
(@) 11 (b) 12
(c) 13 (d) 14

VERTEBRATE BLOOD CIRCULATORY SYSTEM

(87)  Number of ventricles in amphibians is:
(a) Zero (b) 1

() 2 B 2 | | (¢

(88)  Which of the following does.=nt ha\/= a conr*'““tely dividled four ¢ hc moerid Figart?
(a) Crocodile | (b)\Sriake '
(c) Man—, 1 A WLV ) Pigeon

(89)  AorticthKin huménis: || T \ =
(a) Emerges from leit vehtricte” (b) Leads to carotids

o (c), Lpads t B! \thmic-arches (d) All of these
(9Q) | '.No 3ydketsic arch disappears in:
“.) (@) Pigeon (b) Horse

(c) Rat (d) Crocodile

(91) Bulbous arteriosus is in fishes.
(a) Part of sinus venosus (b) Proximal part of ventral aorta
(c) Distal part of ventral aorta (d) Proximal part of dorsal aorta
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(a7
(c) 4.7

(92)  Which of the following is true about mammals?
(a) They have right aortic arch only (b) They have left aortic arch-only
(c) They have left and right aortic arches (d) They do not hav €.aqrtc drrh
(93) Single circuit heart is found in: N _(I\,“T‘\I 2U.L7, LHR 2017)
(a) Birds (b\ Fichas /
(c) Reniiiss “~(hY Niainmals
(94) The hezit of fishasis! ' (LHR 2018)
(a) Sing'e cercytt (b) Double circuit
(ciTriple cirau't (d) Multi circuit
(§5) | % he-neart of which animals never receive Oxygenated Blood: (MTN 2019)
(a) Amphibians (b) Fishes
(c) Birds (d) Reptiles
(96) Single circuit heart is present in: (FSD 2017, GRW 2017, BWP 2019)
(a) Fish (b) Amphibia
(c) Reptiles (d) Mammals
(97) Cavum venosum and cavum pulmonate are pockets present in heart of: (SWL 2019)
(a) Birds (b) Mammals
(c) Reptiles (d) Fish
(98)  The left systemic arch disappears in: (LHR 2019)
(a) Mammals (b) Fish
(c) Reptiles (d) Birds
(99) Single court heart is found in: (LHR 2021)
(2) Amphibians (b) Reptiles
(c) Aves (d) Fish
(100) Which one of the given part of fish body has oxygenated blood? (SWL 2022)
(a) Sinus venous (b) Dorsal aorta
(c) Ventral aorta (d) Atrium
(101) Single circuit circulation is found in: (LHR 2017, FSD 2019, FSD 2022)
(a) Man (b) Cat
(c) Fish (d) Bird
TRANSPORT IN MAN
(THE CIRCULATORY FLUID-THE BLOO e,‘
N~
(102) A person is weighing 60kg. Wha* will be hv 1p0|0x1mafe W|‘Ight cfr‘m 510007
(@) 1 Kg — (1) 4KKg, '
(c) 5Ka. UL rd) 10 K-
(103) Together the :..urqarm icr! Sé 'qd\%gits rnakd'ap % of the plasma:
(a) 0.0¢ o ' (b) 0.9
(2) & (d) 19
(104 WWhich-9fthe roIIowmg are in highest quantity in plasma?
LY ) Tnorganic salts (b) Organic nutrients
(c) Plasma proteins (b) Nitrogenous wastes
(105) Normal pH of human blood is:

(b) 7.4
(d) 7.2
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(106)
(107)
(108)
(100}
i(11(5')

(111)

(112)

(113)
(114)

(115)

(116)

(117)

(118)

f289)

(120)

Which of the following are the least in number?

(a) Neutrophils (b) Basophils -

(c) Lymphocytes (d) Monocytes
Select the set of WBC’s with function opposite to.cach othei: . * | [ &
(a) Eosinophil & Basophils-, < (), Nedtrephiis & o--n(.phu. '
() Monocytes & Lymphodytes 71 \(a) Ploteleis & RBT

Which-&f rni followirig a5 tive ! onqeu Il‘ﬂ SpAri2

(@) Lyriashocytas | B _+ (b) Monocytes

(c) Bascphiiis '\ V3 ' (d) Eosinophil

Whiih Of the 1nilewing is not included in granulocytes?

@ clakeptiils (b) Eosinophil

(¢) Neutrophils (d) Lymphocyte

The solutes in plasma can be divided into categories.

(@3 (b) 5

(c)6 (d)9

Small particles in blood are phagocytosed by:

(a) Neutrophils (b) Eosinophil

(c) Basophils (d) Monocytes

Interferons protect our body by attacking on:

(a) Proteins of invading organisms (b) Carbohydrates of invading organisms

(c) Nucleic acids of invading organisms (b) None of these

Cholesterol is the precursor of hormone.
(a) Polypeptide (b) Steroid
(c) Proteins (d) Amino acid derivatives
WABCs are present in highest proportion in blood.
(a) Neutrophils (b) Basophils
(c) Lymphocytes (d) Eosinophil
Which salts is most abundant in blood plasma?
(a) KCI (b) NaCl
c) MgCl, (d) CaCly
In normal human body percentage of plasma in blood volume is: (DGK 2017 -
(a) 45% (b) 30% P - 3 g
(c) 55% (d) 60% o
In male human beings the amount. of rec blooﬂ C A% per Lutll, ml”JI’.]eLJLl‘
\ v LYy (LHR 2017)
(@) 5-5 1/2 million RYFAR (b\ 4 4/ 1/7 dillion L/
(c) 6o 1/ 2 milkion_ | ¥ \ |\ AN 3=3 1/2 million
Plasma p hteil 'S ‘ons*nuh mnsﬁ 5y weight of plasma. (GRW 2017)
(@ =24 A% AL Ve (b) 3-6
(G NAK I - (d) 10-13
Vifiiithi-one of the following is not cell but the fragment of large cells (SWL 2017)
(a) Basophils (a) Leucocytes
(c) Platelets (d) Erythrocytes
A substance that inhibit blood clotting is: (MTN 2017)
(a) Heparin (b) Fibrinogen
(c) Fibrin (d) Thrombin
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(121)
(122)
(123)
(1241
(125)

(126)

(127)
(128)
(129)
(130)

(131)

(132)

(134)

284

Histamine is produced by: (FSD 2019)

(a) Neutrophils (b) Eosinophils : —

(c) Basophils (d) Monocytes.._ <, | | |

A substance that inhibits blood clotting i5: O L S ERZ019)

(a) Heparin A~ (b Flbringger

(c) Fibrin , (d) Thrembin

A substance proguce hy hasupliils'that mnrh!.s biood clotting is: (SWL 2019)

(a) Flbr.nnuel L TS T (b) Heparin

(c) Histemirie | | ' (d) Globulin

[3asophiis rsauce a substance that inhibits blood clotting: (LHR 2019)

{2l)*+eparin (b) Platelets

(c) Fibrinogen (d) Eosinophil

The mammalian red blood cells are: (GRW 2019)

(a) Biconvex (b) Convex

(c) Concave (d) Biconcave

How much of the cytoplasm of red blood cells have haemoglobin? (DGK 2019)

(@) 91 % (b) 93 %

(c) 95 % (d) 97%

Which type of white blood cell stays 10 to 20 hours blood then become macrophage:

(MTN 2021)

(a) Monocyte (b) Neutrophil

(c) Basophil (d) Eosinophil

Percentage of red pigment the haemoglobin in cytoplasm of red blood cells is
%. (GRW 2021)

(a) 95 (b) 90

(c) 85 (d) 80

The average life span of red blood cells in human is about

month/months. (GRW 2021)

(a) One (b) Two

(c) Three (d) Four

It is estimated that in normal person’s blood cells or cell like bodies constitute by -

volume of blood. —(GRW.2021] e

(a) 55% (b) 50% —, [ )

(c) 45% (d) 40%~ - N [ (O VO

The weight of blood in a man of )O,E\g |Q L AR R Y et (LHR 2022)

(a) 5 kg YAl (b) 10kl V\ A > [

(c) 15 kg, | . \ L AdhzekgT

From vidiate Hhe | ed hlood ey f‘“ fr rmed in a person at the age of 35: (DGK 2022)

(a) Liver 44 44 L0 L LA (b) Spleen

' _(c, Bonelmairain— (d) Stem cells in bone marrow

. ThasGiume of plasma in 10L blood of man is: (MTN 2022)

(a) 55L (b)75L

(c)95L (d)115L

Which of the following initates the process of blood clotting? (RWP 2022)

(a) Conversion of fibrinogen to fibrin (b) Conversion of fibrin to fibrinogen

(c) Exposure of blood to air (d) By platelets
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ENTERY TEST BASED MCQ

(135) proteins are produced by WBCs in response to .——  _—aid
provide immunity. e T (UHS 2622)
(a) Antibiotics, antigen . i {b) Antibpiies, RBC ) | [ ¢ :
(c) Globulin, histamine _ () Ant bcue~, antf gen

(136) A type of blood cell that prcducess nzpariry is, || - I (MDCAT 2017)
(a) Basentii / AR \b, an'.nuphll
(c) Neutehphit | —(a) Monocyte

(137) Which nf tipe Following s ag¢ranuiocyte cell? (MDCAT 2017-Retake)
(2) Neutrophil ' \ (b) Basophil

_ 4;c\ = Tl R T (d) Lymphocyte

11:23) *hich one of the following cells do not have nucleus? (MDCAT 2018)
(a) Eosinophils (b) Basophils
(c) Platelets (not a cell) (d) Neutrophils

(139) The major function of Basophils is to: (MDCAT 2019)

(a) Destroy small particles by phagocytosis
(c) Release heparin to prevent blood clotting
(b) Inactivate inflammation producing substances
(d) Transport oxygen
(140) Percentage of protein in human blood is: ( MDCAT 2017-Retake)
(@) 1-2 (b) 7-9

(c) 7-10 d) 6-9
BLOOD DISORDERS

(141) The uncontrolled production of white blood cells results in: (BWP 2017)
(a) Leucaemia (b) Oedema
(c) Thalassaemia (d) Lymphoma

(142) Thalassaemia is also called: (LHR 2018)
(a) Cooley’s anaemia (b) Thomas anaemia
(c) Peter’s anaemia (d) MendI’s anaemia

(143) Leucaemia is the result of uncontrolled production of: (FSD 2021)
(a) Leucocytes (b) Thrombocytes

(c) Erythrocytes d) Platelets
PUMPING ORGAN-THE HEART]

(144) Right atrium open into right ventricle byv-means of: .~ '_ YNy
(a) Tricuspid valve (Bicuspid vaive, [ L
(c) Semilunar valve ~ () Mitral valve |
(145) Aortic valvs closes: / )
(@) Af‘er he ‘or*a-dcur‘n of atrla A
(b) At thie hag! rmmg of v>nmcul coniraction
(c) Puring'aiastole, |
(AL thi eniof ventrlcular contraction

A -tf'..L_L-S ] Hhezhinicity of heart is under control of:

(a) Somatic nervous system (b) Autonomic nervous system
(c) Peripheral nervous system (d) All of these
(247) chamber of the heart is comparatively smaller than the other side.
(a) Left atrium (b) Left ventricle
(c) Right ventricle (d) Right atrium
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(148) Semilunar valve is present in base of:

(a) Aorta (b) Pulmonary trunk
(c) Left atrioventricular septum (d) Botha &b
(149) The inner most layer of heart is called: 1 VT W N
(a) Epicardium \ = (Ib; Mybcerdicm,
(c) Endothelium ' “\(a) Erdycerdium—
(150) Papillas= muscles-attaciied veith tricuspidvalves-are extensions of walls of:
(a) Lt. atHum! u B = (b) Rt. Ventricle
(c) Lt. veniiriclz!, B (d) Rt. Atrium
(1510~ Tie |walls! bf laft ventricle are times thicker as compared to right
. reRT sk
L fa)l (b) 2
()3 (d) 4
(152) Which of the following artery supplies blood to heart muscles?
(a) Pulmonary (b) Coronary
C) Systemic (d) None of these
(153) The heart is enclosed in a double membranous sac called: (LHR 2016)
(a) Epicardium (b) Myocardium
(c) Pericardium (d) Endocardium
(154) Atrioventricular valve present in left side of heart is: (DGK 2019)
(a) Tricuspid (b) Bicuspid
(c) pulmonary (d) Semilunar
(155) The wall of left ventricle is thicker than that of right ventricle: (MTN 2022)
(@) 1time (b) 2 time
(c) 3time (d) 4 time
(156) The right atrium receives deoxygenated blood from this part of the body :
(FSD 2022)
(a) Brain (b) Body
¢) Lungs (d) Kidney
(157) Bicuspid valve is present in which part of heart? (MDCAT 2017-Retake)
(a) Right atrium and right ventricle (b) Left atrium and left ventricle
(c) Right atrium and left ventricle (d) Left atrium and rlgh'r ven[rlc. -
(158) The thickest chamber of human heart is: o 1D ,AT ?Nm
(a) Left atrium ()] Dlgnt'a*ril m oy " Fu
(c) Left ventricle \ T (d) RJgut yentricle | o
(159) Which one of the followirig qct esla p' 1camak= iheart? — L (MDCAT 2018)
(a) Atriay/eniricularriode®, | L ~(h) Siro- atrial node
(c) Atrix ventricuian bundles'of, i‘.he 5 (d) Bundle of His
(160) Cardia¢ cycle lasts about (MDCAT 2017-Retake)
-~ K __(Ie) )[4 sge | (b) 0.01 sec
4 ()48 sec (d) 0.5 sec
“16%) Which statement is correct about atrial systole? (MDCAT 2018)

(a) Atria relax and ventricles contract

(c) Atria contract and ventricle also contract
(b) Atria and ventricles are relaxed

(d) Ventricles remain relax while atria contract
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CARDIAC CYCLE, MECHANISM OF HEAR EXCITATION &
CONTRACTION y
(162) The function of (a)V node in heartis:

(a) Delay the excitations bat¢re entating int th veniricles

(b) Receive-2xcitations froin gtriumiaric supply|ic ventricles

(c) Initiati\excitatiori‘in-narinal.cona’ tmr. '

(d) Botiie & I |
(163) Dukh sound i¢ meda clue 0

(&) Closinalof-atrioventricular valves (b) Closing of semilunar valves
| ) '©pening of semilunar valves (d) Opening of atrioventricular valves
£.64) is called the pace maker of the heart:
(a) S.A node (b) V node
(c) V bundles (d) Excitable fiber of ventricle
(165) The delay of ventricular contraction that occurs due to (a)V node is about:
(@) 0.8 sec (b) 0.15 sec
(c) 0.15ms (d) 0.5 sec
(166) The duration of cardiac cycle is about:
(@) 0.8 sec (b) 0.15 sec
¢) 0.15 ms (d) 0.5 sec
(167) One cardiac cycle is completed in: (RWP 2017)
(a) 0.3 Second (b) 0.4 Second
(c) 0.8 Second (d) 0.5 Second
(168) One complete heart beat consists of one systole and one diastole which lasts for
about: (FSD 2017, GRW 2018))
(a) 0.2 second (b) 0.8 second
(c) 0.5 seconds (d) 1.0 seconds
(169) One complete heart beat lasts for: (MTN 2019)
(@) 1.0 sec (b) 0.8 sec
(c) 0.5 sec (d) 2.0 sec

ELECTROCARDIOGRAM, ARTIFICIAL PACE MAKER, BLUE BABIESH

(170) P wave in ECG occurs: _ : L
(a) Just prior to atrial contraction . | (b) Just-afizr t' cw’rro.vt 01 CHvene acn':
(c) Just prior to ventricular-spntractich ~(d), \/Pr'EI’ICllla r=Ic.xavor| '
(171) In blue babies cyanosis occursdu? ti
(a) Mixirg of blnea-hetween \,enw\le
(b) Mixii \of \Eloaici bétv /eer airia
(c) Mixing'of Elood in 0. tal&s pulmonary artery
-, (d}, Eoth bl

NINIRVAY BLOOD VESSELS

(172) Arteriosclerosis is caused by:
(a) Atheroma (b) Advancing age
(c) Both of these (d) None of these
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(173) Flow of blood to heart through veins is facilitated by:
(a) Muscle pump (b) Semilunar valves
(c) Gravity (d) Botha & b e
(174) The Thrombus & Embolus are: L ([ &
(a) Blood clot 4 () Pluy of hlgod cons stitieris—
(c) Solid mass - (o) Al G flh‘-‘St '
(175) Atheremé ¢ depositisiiaf: -
(a) Plaielats | -(b) L|p0|d material
(c) Brorrer, ¢lastic ﬁher ' (d) R.BCs
(176) . Excriange nf materiai-occur at:
@) Verilies & capillaries (b) Arterioles & capillaries
L &) Capillaries only (d) Venules & arterioles
\L77) Valves are present in:
(a) Arteries and veins (b) Veins only
(c) Veins and capillaries (d) Arteries only
(178) Lager bore is present in:
(a) Arteries (b) Veins
(c) Venules (d) Arterioles
(179) The total cross-sectional area is greatest in:
(a) Capillaries (b) Aorta
(c) Arteries (d) Veins
(180) The velocity of blood flow is greatest in:
(a) Capillaries (b) Aorta
(c) Arteries (d) Veins
(181) No pulse is observed in:
(a) Capillaries (b) Arteries
(c) Veins (d)Botha&¢c
(182) Muscles and elastic fibers are absent in:
(a) Capillaries (b) Aorta
(c) Arteries (d) Veins
(183) Thrombus in may leads to myocardial infarction.
(a) Aorta (b) Coronary artery
(c) Pulmonary artery (d) All of these
(184) The total cross sectional area is greatest in:
(a) Capillaries (b) Aorta 4
c) Arteries _{d) Veins 5 % | |
(185) Hepatic portal vein carrizs 'olooo fomis — ) e (DGK 2019)
(a) Liver _ (b A\Il.nﬂn ary canal
(c) Kidneys | — - \ . 1) Lings
(186) The arferies dLvMe into, st allar VO55E1S caIIed (MTN 2021)
(@) Meirs |} | (b) Venules
(o) Capiliaries (d) Arteries
[hevaives present in the veins are called: (RWP 2019, SDG 2021)

)

(188) The renal vein brings the impure blood from

(a) Bicuspid
(c) Tricuspid

(a) Brain
(c) Lungs

(b) Semi-lunar
(d) Aortic

(b)Kidney
(d) Liver

(BWP 2022)
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ENTERY TEST BASED MCQ

(189) Flow of blood in the capillaries is adjusted by: (UHS-2022)
(a) Heart directly (b) Pre-capillary sshincte s '
(c) Meta-arteriole 1 d) Valves \ -

(190) Elastic fibers are absent i=-the V\F‘”a of-— 1\ 4 (VIDCAT 2017)
(a) Aorta (b\ Vur5( Shractin kiy)
(c) Arteries |\ (d\ Cayillaries

}%\?’*ﬁﬁ'ﬂ‘
PAST PABERS |
(19L I ,nyor wrdiarinrarction, which organ in affected: (LHR 2021)
s oL ) Eurigs (b) Eye

(c) Kidney (d) Heart

(192) Discharge of blood from blood vessel is called as: (BWP 2021)
(a) Stroke (b) Heart attack
(c) Thrombosis (d) Haemorrhage

(193) Match heart attack with one of the following: (RWP 2021)
(a) Stroke (b) Oedema
(c) Hydpertension (d) Myocadial infarction

(194) Disruption of control system of the heart leads to: (SGD 2022)
(a) Hypertension (b) Heart attack
(c) Stroke (d) Hemorrhage

LYMPHATIC SYSTEM

(195) System responsible for the transport of materials from body tissue to blood:
(a) Blood vascular system (b) Lymphatic system
(c) Immune system (d) Circulatory system
(196) The correct pathway of passage of lymph:
(a) Interstitial fluid—> lymph vessel - lymphatics = lymph node
(b) Interstitial fluid—=>lymph node - lymph vessel-> lymphatics
(c) Interstitial fluid—>lymphatics=> lymph node = lymph vessel
(d) Interstitial fluid—=> lymph vessel = lymph node - lymphatics
(197) The flow of lymph is maintained by:

(a) Activity of skeletal muscles (b) Movement of viscera-;
(c) Breathing movements —{d) AII of these " | | -
(198)  In humans lymph nodes are m0<*‘|y presentl SRR AR RN AL
(a) Neck CF 7 () Akival '
(c) Groin — AR ’d ’\II ofthEse
(199) Whicl..one i¢ ot A iyu ot ud maﬁg
(@) Tomsilg | 44 |\ ' (b) Spleen
(o) Thyraug | |} L L (d) None of these
(29D Whish-isrottne functlon of lymphatic system?
&) Absorption of material from lymph (b) Defend against diseases
(c) Absorption of digested fats (d) Transport lymph to circulatory system
(201) Lymph s a fluid in transit between:
() Interstitial fluid & blood (b) Blood & plasma
(c) Interstitial fluid & plasma (d) None of these
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(202)

The flow of lymph is maintained by:
(a) Activity of skeletal muscles (b) Movement of viscera

¢) Breathing movements (d) All of these -
PAST PAPERS MCQs , ! W N

(203)

Lymph vessels empty in: L _ _ (DGK 2021)
(a) Arteries ' (k) Adteriole -

c) Capilaries . L eAd) Vel
Emﬁhr"{‘ﬁf@"uﬂ '

(204)
(r'tc'ﬁ )

(206)

The lyrapaatic vessels of the-body empty the lymph into blood stream at: (UHS 2022)

(@, Abdcm! ra[ viair (b) Jugular vein

0o b=Clavian vein (d) Bile duct

i horacic lymph duct of the lymphatic system opens into . (MDCAT 2017)
(a) Superior vena cava (b) Inferior vena cava

(c) Subclavian vein (d) Renal vein

Large lymph vessels ultimately form larger lymph duct, which drains its lymph
into: (MDCAT 2019)
(a) Carotid and Aorta (b) Subclavian Vein

(c) Subclavian artery (d) Vena cava and Aorta

IMMUNITY AND ITS TYPES

(207)

(208)

(209)

(210)

(211)

(212)

(248

(214)

Vaccination is the example of:

(a) Artificial Active immunity (b) Natural Active immunity

(c) Artificial passive immunity (d) Natural passive immunity

In case of snake bite venom passive immunity is produced by the antitoxin, so the
serum is called:

(a) Antiserum (b) Antitoxin

(c) Antivenom (d) Anti snake bite

An antibody molecule consists of polypeptide chains.

(@2 (b) 4

()5 (d) 6

Heavy and light chains of antibodies are held together by:

(a) Hydrogen bonds (b) lonic bonds

(c) Disulphide bonds (d) All of these

Receptor site of an antibody for germs consist of:

(a) Variable site of heavy chain ~fb) Constart-dnd urlo.'f-le s'te of h°" «,! BT

(c) Consist site of light and heavyr ncln (A Viariablz site of heavy and. gt chain
Bursa of Fabricius is: 2RI BERIR RN,

@ Lymoh,d tissue present in mammais '

(b) A par of tespiratoyisys: emxo?\QVd

(c) Preszn; in airdiand is'a tymrhoid tissue

() /site wikre E, lympkocytes are broken down

{2l menmialed response is a characteristic of:

£4) B lymphocytes (b) T cells

(c) Monocytes (d) Basophils
Antibodies are produced by:

(a) B cells (b) T cells

(c) Granulocytes (d) Plasma clone cells
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(215) Phagocyte act as:
(a) 1% line of defense (b) 2" line of defense
(c) 3 line of defense (d) 4t I|ne of defesse, | *
(216) An Immunogen is: »
(a) Globular protein to kill ntlgen \
(b) A foreign particle which <tin quute the omd It tIL"“ o’r ant: bomes
(c) A piagmalprotein.for clotting - :
(d) ProgiGced by piasnia lirie ¢ells
(217) Antibodiesara'produced Ly

(@) T cells || _ ' (b) T helper cells
L )R Cails (d) None of these
(218) Passive immunity is developed by injecting: (LHR 2018)
(a) Vaccine (b) Serum
(c) Antiserum (d) Antibiotics
(219) Antiserum is a serum containing: (LHR 2017, MTN 2017, MTN 2019)
(a) Hormones (b) Antigen
(c) Enzyme (d) Antibodies
(220) Immunoglobulins present in plasma play a role in: (MTN 2021)
(a) Defense against disease (b) Water balance
(c) Transport O (d) Salt balance
(221) Itis a third mechanism to defend the body against the foreign invaders is:
(LHR 2021)
(a) Skin (b) Mucous membranes
(c) Phagocytes (d) Immune system
(222) Which of the following is not a part of human immune system? (RWP 2022)
(a) Antibody (b) Antigen
(c) B — lymphocyte (d) T — lymphocyte
(223) The antibody molecule consists of polypeptide chains: (MDCAT 2017)
(a) Eight (b) Six
(c) Four (d) Two e,
(224) cells survive for a few days and secrete a huge no Tantibodiesin™ | | !
blood, tissue fluids or lymph. e | \MDf‘A T 2017\
() Memory cells T (b) T-hswp nocytes™, ™ | .; & NO~
(c) B-lymphocytes . _J () P! lasme edls| | '
(225) The mtermedlate protect or frurr ir f ch u st ah\e b tel clii ‘be, obtained by:
- Yot TR (MDCAT 2017)
(a) Actiz mi] urnu AR \ i (b) Passive immunity
(c) Natura. qctive tmmunitys (d) Vaccination

(2263 I-lo\v many! os y"‘cptlde chains are present in an typical antibody structure:
NN (MDCAT 2017-Retake)

(a) 1 (b) 3
(c) 2 (d) 4
(227) Vaccination is: (MDCAT?2017-Retake)
(a) Natural active immunity (b) Artificial active immunity
(c) Natural passive immunity (d) Artificial passive immunity
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(228) Cell mediated immune response is given by: (MDCAT 2018)
(a) Neutrophils (b) Macrophages : —
(c) T-lymphocytes (d) B-Iymphocyt_ee - [ \
(229) Antivenom given after a snake bite venon s an exariapie-of: | | ([‘v' DCAT-2018)
(a) Artificial active immunity - (i, Artificia | passive imnuriicy
(c) Natural active immunity ' T\(d)Nétrray passive immunity
(230) In immurioglobulins/aiiiikocies, two! i gr £ bh(m c-and two heavy chains are linked to
each octar by \ ;) - (MDCAT 2018)
(a) Covalen: bmdu V3 ' (b) Disulphide bonds
(© Hydroghie ba 21ls (d) lonic bonds
. R (281} .\Iuw -Z=ays every new born gets regular shots of vaccine for polio. It contains
J RN A for polio to make a child immune against this disease. (MDCAT 2019)
' (a) Antisera (b) Antibiotics
(c) Antibodies (d) Antigens

(232) A person got an infection, he became ill but then he survived. What do you think
which type of immunity he would have developed?
(a) Naturally induced active immunity (b) Active immunity
(c) Artificially induced active immunity (d) Passive immunity
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KIPS SHORT QUESTIONS

INTRODUCTION, UPTAKE OF MINERAL AND WATER-B# Pt ANTS

Q:1  Define transport. What is its neeu=

Ans: Definition: ' - -

The maverient of any-ceiet irdm cne|plase to another-with help or W|thout help of other

body i5-khGéwnias tansport -

Need: . )

ITis|the malir r.é‘gui'.'ernents in living organisms for distribution of nutrients and removal

U7 Aiskes:

Define facilitated diffusion. How does it differ from diffusion?

Ans: Facilitated Diffusion:

Facilitated diffusion is a type of diffusion in which carrier molecules within the cell
membrane transport nutrients across the membrane. The carrier molecules are proteins,
which are present with cell membranes of epidermal and other root cells.

Difference from Diffusion:

It is facilitated with carrier proteins while diffusion is spontaneous process.

Q:3  Define incipient plasmolysis.

Ans: The point at which plasmolysis is just about to happen is called incipient plasmolysis.

A incipient plasmolysis the protoplast has just stopped to exert any pressure against the cell wall.

Q:4  What is osmotic potential?

Ans:  The osmotic potential is a measure of the change in water potential of a system due to the
presence of solute molecules. Osmotic potential is always negative and if more solute
molecules are present more negative is the osmotic potential.

Q:5 Why animal cells cannot withstand a higher pressure potential?

Ans: The animal cells cannot withstand higher pressure potential as there is no cell wall around
protoplast. Thus the turgid cells burst in a solution of higher water potential.

Q:6  What is kPa?

Ans:  kPa is equivalent to 1000 Pascals. It is the pressure exerted by a vertical force of one Newton
on an area of 1 meter square.

Q:7 What is an apoplast pathway? . \

Ans: It is the pathway involving system of adjacent cell walls whick-iz C)nh..nmus thr! )uqh%;
the plant roots. In the roots apoplast, pathvyay b&co TGS le\,')n muuu‘ ln ie_ erfotermis
due to the presence of Caszarian strins. SR

Q:8 Define plasmolysis and de piacm Diysis|

Ans:  Plasm les S - \ AN A
Plasmoy¢it i he, shriniace, of phu'plast due to exosmosis of water and such a cell is
calleil piasirolivdec cill!

“CDeplasminlysis

l(.-
NG

L' 'Retarn of cell from plasmolysed state to its original form is called deplasmolysis and

such a cell is called deplasmolysed cell.
PAST PAPERS QUESTIONS
Q:9 Differentiate between active transport and facilitated diffusion. (SGD 2017)
Q:10 Define Osmosis (MTN 2017)
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ASCENT OF SAP AND TRANSPIRATION
KIPS QUESTIONS _

Q:11 How xylem walls are strengthened? ) | _

Ans:  The lignin and cellulose provide strength'tc, cel! wa'l'of xvlen ve ssels.“'nhpre‘.ore, the
xylem walls have high tensii strerigin.

Q:12 What are different factors involvediin‘raovernent o< Inasin and 2ut of guard cells?

Ans:  The levelpf carhoruioxide i thie spa(:-\s irside ¢ she learand light control K* ion movement into
the guari Gells:

o Low leyel bf carpor u.qude favour opening of the stomata thus allowing an increased

| »carkon Cicside level and increased rate of photosynthesis.

»/ ‘Exposure to the light acidify the environment of the guard cell by pumping out H* ions
which enable the guard cells to take up K* followed by water uptake resulting in increased
turgidity of guard cells so the stoma are open.

e Vice versa.

Q:13 Define hydathodes and what are their functions?
Ans: Hydathodes are water secreting glands through which loss of liquid water or guttation
takes place.
Q:14 Differentiate between Cuticular and Lenticular transpiration.
Ans:
The loss of water in the form of water | The loss of water vapours through
vapours through the cuticle of leaves is | lenticels (aerating pores formed in the
called cuticular transpiration. bark) present in the stem of some plants
is called lenticular transpiration.
About 5-7% of total transpiration takes | Itis1-2% of the total transpiration by a plant.
place through this route.
Q:15 What is meant by root pressure?
Ans:.  Active secretion of salts from the other cells into the xylem sap lowers the water potential
of the xylem sap, therefore water enters xylem cells by osmosis increasing the level of
sap and hydrostatic pressure in xylem cells which pushes the water upwards. It is root
pressure and is the second force involved in ascent of sap however the sap in the xylem

does not rise to enough height in most plants. Also the root pressure is_least eﬂ‘ectlm sl

during day when transpiration pull is active. 1
Q:16 What is guttation? What does it dlffer frein transmr"*'on AR
Ans:  Guttation: AR AS
Guttation or exudation is logs cf liguic water t:‘.*oE'C'h 'lvat*er'-s'=c1"nt'-nr€' glf nals called hydathodes.
Differencewith Transgireticn /

-ﬂlfm‘\M‘lh

'g)ccws Hironigh\hidéthodes. It commonly occurs through stomata.

N |

—_—

Waler i5 sherefed) Water is evaporated.

Q117 Describethe contribution of Sacks in biology.
“Ars!  Sacks in 1874 suggested that the water molecules move along the cell walls of xylem
vessels due to imbibition.

Imbibition forces (like dry cell wall and thicker protoplasm) may develop in the plant
body. The dry cell walls can attract and absorb large amount of water. The amount of
water in the protoplasm is also increased.
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Q:18
Ans:

Q:19
Ans:

Q:20
Ans:

Q:21
Ans:

Q:22
Ans:

Q:23
Q:24
Q:25
Q:26

Q:2%

Q:28
AnNs:

Define imbibitions.

Imbibition is a process in which the colloidal particles in the soil or cell wall-esmponerts tike,
up water and it binds to surfaces of these particles. It has been su ig0e| steG-that vyatelr Imaceves
along the cell walls of xylem vessels due tofirbibiticr-Tfie cell Aali*so myome Nty 200 |aIIy
cellulose, pectin and lignin and proiop.asm-can teke, up wate:, swell anc inciease in volume.
However, they do not dissolve, in-water, [mdilitioh 15 4 reversibie-precess and when water is
lost therifirial volumsoithe cellwall ard pratoplecsis restored.

What r=alzedlingqn plant» Vifhatdaciors-are responsible for bleeding?

Bleeding:

Sometimes) it <o Mppens that certain plants, when cut, or otherwise wounded, show a
!l ¢Pisap from the cut ends or surfaces quite often with a considerable force. This
phenomenon is called bleeding.

Factors:

There are two main factors responsible for bleeding:

(1) The hydrostatic pressure in xylem and phloem elements.

(2) The root pressure which is exerted by the xylem tissues of roots

What is a lenticel?

Lenticels are aerating pores formed in the bark through which exchange of gases takes
place and water is lost in the form of water vapours (Transpiration). Externally they
appear as scars or small protrusions on the surface of stem. Lenticels consist of a lose
mass of small, thin-walled cells. At each lenticel the cork cambium forms oval, spherical
or irregular cells which are very loosely arranged, having lot of intercellular spaces.
Define transpiration. Enlist its types.

Transpiration:

The evaporation of water from the aerial parts of the plant especially through stomata of
leaves is a process called transpiration.

Transpiration has very important role in the ascent of sap.

Types: There are three types of transpiration depending upon the route of escape of water
vapours from the aerial parts of the plant

(1) Cuticular transpiration

(2) Lenticular transpiration

(3) Stomatal transpiration

Enlist various benefits of transpiration.

(1) It helps in ascent of sap.

2) It provides cooling effect to plant, body)| \ A N o o~ N
PAST PAPERS QUESTIONS N e R AR R S N

What is guttation? VAR _ - (FSD 2017)

What i tleeding s Piants?| Y4\ VL L T (MTN 2017)

What isreant py Dieetfing i p]awt\c’ - (DGK 2017, SGD 2017)

What is'lefticu| lar | renspi: 2tion? (DGK 2017)

__st guttatidn differ from imbibition? (RWP 2017)
- TRANSLOCATION

State pressure flow theory.

Pressure flow theory states that the flow of solution in the sieve elements is driven by an
osmotically generated pressure gradient between source and sink.
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Q:29 Enlist all the types of cells in the phloem tissues.

Ans:
(1) Sieve elements . AR
(2) Phloem parenchyma cells ' Y
(3) Companion cells \
4 Some fibers, sclereids anc, lxtex r‘m anu g nells.

PAST PAPERSYDUESTHORS

Q 30 How sigve fubies end cmpdmon cells \,ommunlcate’> (DGK 2017)

AR RARSPORTATION IN ANIMALS
1131 'Sive the names of three main blood vessels and their functions in earthworm.
Ans:  The three main blood vessels in earthworm are:
e Dorsal blood vessel that collects blood from the 14th segment backwards.
e Ventral blood vessel which is chief distributing vessel with backward flow.
e Subneural vessel which is a collecting vessel.
Q:32 What is closed circulatory system?
Ans: Itis a type of blood circulatory system in which blood always remains in the blood vessels, and
does not come in direct contact with other cells of the bodly.
Closed circulatory system is found in annelids, cephalopod mollusks (squids and octopus),
echinoderms and vertebrates.

VERTEBRATE BLOOD CIRCULATORY SYSTEM

Q:33 What is a single circuit heart? Give example.

Ans: Type of heart through which only one type of blood flows is called single circuit heart
e.g. as in fishes.

Q:34 State the pathway of blood in a single circuit heart.

Ans: Type of heart through which only one type of blood flows is called single circuit heart
e.g. as in fishes.
Sinus venosus receives deoxygenated blood from the body. This blood is passed first to
atrium and then to ventricle. Ventricle has thick muscular wall, which on contraction
pushes blood to ventral aorta via conus arteriosus. Ventral aorta carries blood to gills.

where oxygenation of blood occurs. This oxygenated blood |s dIST" l"uted *o bm“ \|a- N

dorsal aorta. . 5N
Q:35 What is pulmonary circulation? —~, AR RS A
Ans: Circulation of blood betweer) heart =ad kings i% “aL|ed pulmiprar, /crrCJIatlon

It is as follows. /

Deoxwe,nutej Uou ..om dl*‘fer n Lo*iv & ts returns to right atrium. Right atrium

pushes | thig )_00_{.1 t0 \right veriricle, from where pulmonary arteries carry this

deoxy/genated inad to-lungs for oxygenation. From lungs oxygenated blood is carried to

“ Meftattrivim- by pulmonary veins. Left atrium pushes this blood to left ventricles from

L' “which blood is supplied to aorta.

PAST PAPERS QUESTIONS

Q:36 Differentiate between pulmonary circulation and systemic circulation. (SWL 2017)
Q:37 Differentiate between single circuit and double circuit heat. (FSD 2017)
Q:38 Differentiate between systematic and pulmonary circulation. (DGK 2017)
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Chapter—14 Transport

TRANSPORT IN MAN, BLOOD

Q:39 What are different functions of plasma protelns’>

Ans:
(1) Provide defence against diseascc_
(2) Maintain viscosity
(3) Fagiiitote transgart ot matesials
(4) Cloiiag of hleod _

Q:40 What are tne salient feafures of thalassaemla’>

Ans: [t is|characterized sy the presence of microcytes by spleenomegaly (enlargement of spleen) and

; by hanyes in the bones and skin. This disease is more common in children especially of

Mediterranean parents. The blood of these patients is to be replaced regularly, with normal
blood.

Q:41 Give the role of platelets.

Ans: They are involved in blood clotting. They help in conversion of soluble plasma
fibrinogen into insoluble fibrin. The fibrin threads enmesh red blood cells and other
platelets in the area of damaged tissue forming a blood clot. The clot serves as a temporary
seal to prevent bleeding until the damaged tissue can be repaired.

Q:42 Give two important chemicals produced by basophils what function do they
perform?

Ans: Basophils releases;

e Heparin to prevent blood clots and
e Histamine, which causes inflammation.

Q:43 What are blue babies?

Ans: Failure of interatrial foramen (an opening present in the inter-atrial septum) to close or of
ducts arteriosus to fully constrict results in cyanosis (blueness of skin) of new born. This
is due to mixing of blood between two atria and the mixed blood is supplied to the body
of newborn babies resulting in blueness of skin-thus the name blue babies.

PAST PAPERS QUESTIONS

Q:44 What are blue babies? (LHR 2017, SWL 2017, RWP 2017)

BLOOD VESSELS
Q:45 What do you known about vein? ' - [ | &,

Ans:  Veins are blood vessels that. trans;ior: blon1 1 um bod / "e'ls towqrds he““‘ “The Walls of
veins have three layers, but the sviddle layer i eiatwe*y thiri.ahd slightly muscular with
few elasti¢ Tibres. The-semilunar vaives are. present iri-veins which prevent the back flow
of blooglas, it i Ms/ing owdrwt%\nec "

Q:46 Define nyphkrizhsion. '

Ans:_. i h cendiition 'ofhigh blood pressure. Prolonged high blood pressure damages the lining

| [ Sisgelerarid-also leads to weakening of heart muscles, with declining efficiency of its pumping

N Taction.,

Q:47 What is atherosclerosis?

Ans:  Artherosclerosis is a degenerative arterial change in which thickening of middle layer of
arteries takes place leading to narrowing and hardening of arteries. This increases the risk
of formation of thrombus. The disease is because of old age.
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Q:48 Differentiate between an artery and a vein.
Ans:
_mnmtm\_
Artery is a blood vessel which_carrie§ |\Vein is—a‘piced vesse! vihickicarias siood
blood away from the heart to ‘diferent | rom bodl/ eils tov/ards lieart.
parts of the body. ' T ibe Wl 97 vkinis has same three layers as
The waii£f the artenyrismade'up'of tarez ldyers-—| are present in artery.
o OriZr) (roedg af connaetive.tissiie'ana
elasti¢ fibres), )
«'.| Micdle Yrlade of thick muscular tissue
' "_afia élastic fibres) and

N e Inner, endothelium.
PAST PAPERS QUESTIONS

Q:49 Define heart attack and give its causes. (GRW 2017)
Q:50 What are the preventive measures for the eradication of hemorrhage problems?

(DGK 2017)
Q:51 What is Haemorrhage? Give its cause. (BWP 2017)
Q:52 Differentiate between Thrombus and Embolus. (BWP 2017, LHR 2017)
Q:53 Define stroke and write its effects. (RWP 2017)

KIPS QUESTIONS

Q:54 Explain immunity and give its types.

Ans: The capacity to recognize entry of any foreign material into the body and to mobilize
cells and cell products to help remove the particular sort of foreign material with greater
speed and effectiveness is called immunity. The immunity may be active immunity or
passive immunity.

(1) Active Immunity: The use of vaccines, which stimulate the production of antibodies
in the body and make a person immune against the disease, is called active
immunity.

(2) Passive Immunity: The antibodies are introduced in the form of antisera. Passive
immunity response is immediate but not long lasting.

Q:55 What is difference between antigen and antibody?

Ans:

Antigen or immunogen.is al_foreigs [Iritﬁﬂﬁ‘.i?e—p'—ommicewa substances
substance, often a pmtp..- whign! that are specific-and cause the destruction

stlmuh*P tne forma*.uno antirod es, | 01 “the-"antigens, which stimulated their
RLiEL _\ _ | productlon
‘1@.}'1'11&
Q:56- \Whai is .1u.mrni imniune response’> (LHR 2017)
(T 'Du’.ne artigen and antibody. (GRW 2017)
Q5% Define active and passive immunity. (RWP 2017)
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